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[ CHEMISTRY]
n, = m, for isotonic
i,C,ST =i,C,ST
1,C=1,C,

Krichoff's equation

AHy — AHy
AC =~
P T2 _T]

PbCl,(s) = Psbz*(aq)+ 2Cl G

KSp = 4¢3
1 x 107 = 4¢°
1

S3 = 7% 10°°

1
= (1]3 x1072
4

=063 x102=63 x 107
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29. FACT
30. q mCdT 44. pH=2
IAS=?=j : (H) = 0.01 M = Ca. = 0.1 X o
TZ
AS=I‘ICPEH? oa =0.1
: i =1—-0o+na
=1-01+2x0.1
31. An = @ve =1.1
PT backward shifting '
n=1xCRT
32. H,O(s) - H,O
20) 20 45. B
AH
AS = —— [X7]
T 46. pH = pKa + log [HX]
AS = Sproducl - Srcaclant
47. 1
48. 0
33. 2AB2(g) — 2AB(g) + B2(g) 49. 2
1 0 0 50. 4
1-x X x/2
| [ MATHEMATICS]
B x*.X N P
- 2
P2(1-x)" | X Sl Ans.(4)
2 |z]* -z -2 <0
y :>(|z|—2)(|z|+])<0:|z|<2
VY2
34. w=-2.303 nRT log,, v, Now |z2 +ZSi.l’lq S|z‘2+|zsinﬂs‘z‘2+|z| <4+2=6
35. AU = q+w
w=-P_ .AV
ext 2 Ans.(2) [(n+1)n—(n-1)]n!
36. AH-TAS=0
37. % viscoityd T :(n'+l)M:n|_n+l—(n—l)m
38. NV=(NV),..— NV, ~S8, = nl”_"'l
39. Atlow P and high T real gas behave as ideal gas. 7,, 10110 101 9
| | S, 1011 110"~ '
H=7+ —pK - —pK
41. A
42 C 53. Ans. (2)
P | 9 [pAq[(pAg)—=p|~q|9a~q| [(pAQ—=P] —(Qr~q)
43, o2 T|IT| T T |F|F F
szl_ 5 P~ o’P. T|F|F T |T| F F
F|T|F T |F|F F
< F|F|F T |[T|F F
SO, 0L =~ —r . Given compound statement is always false. So
P it is a contradiction.
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54.

55.

56.

Ans. (4)
n =10,n,=10
average m, = 60, m,= 40
o=40,=6
Standard deviation of combined series
2
_ Mlo-lernzO'z2 i, (ml _mz)
o= + >
mtn, (”l +”2)
- 10><16+10><36+10><10(60—40)2
10+10 (10+10)’
=8+18+100 =+/126 =11.2
Ans. (1)

S=(1-0)(1-od)+....+2017 - 0) 2017 — 0?)

2017 2017

g=2 (n-o)n-0*)=> (n*+n+1)

n=1 n=1

_2017.2018.4035 . 2017.2018
6

+2017

S.n _ 2018.4035 +1009+1
2017 6 o

= (odd + even)r =odd x &t

= cos(i] =cos(oddxn)=-1
2017

Ans. (2)

p—q qv-~p (p—q) <(qv~p)
T T T

S I B
I
= a s T

q
T
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T T T T
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57.

58.

59.

60.

Ans. (4)
Total cases = 15C,.2!1=15.14
2x=3y = (3,2),(6,4),9,6),(12, 8),(15,10)

Fovourable cases =5

R I
Pmbablhty——15.14—42
Ans. (2)
2 n

(n(n+1)] _Zm(m+1)=80

2 o1 2
n’(n+1)> ~n(n+1)(2n+1) nn+1) _ 80

4 12 4
= n=4
Ans. (2)
Tom- ~ T T T XX

Total number of numbers = 100
(without any restriction)
Total number of numbers = 910

(when we do not use 1)

Ans. (1)

"C, ,=86,"C, , =84, "C, =126

“C,;, 84 n-r+2 7
R e e ——
"C,, 36 r—1 3
=3n+13=10r (1)
"C, 126 n-r+1 3
= jun = —
"C,, &4 r 2
=2n+2=5r ...(2)
on=9r=4
"Gy, =Cy=9
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61. Ans. (1)
lz—3—4i| =4 67. Ans. (3)
llz] =51 <4 1 & _\2
20 (Xi —X) =5
lz| <9 i1
20 9
62.  Ans. (2) (Xi —i) =100
1=1
Use : contrapositive of p — q is (~@)—>(~p) new observations are 2x,,2%,,...... 2%,
. _ 2(x1+xz+...+x20) _
63. A4ns. 3) Their mean = X, = 20 =2X
1;)(1009—2n)4 c,(-nn N . 1 i (2, - 2§)2
(1009)*—4(1007)2+6.(1005)*— 4(1003)*+(1001)* OW, VAHIANCE g AT
(1005 + 4)* + (1005 — 4)* 1 20 R 1
—4[(1005 + 2)* + (1005 — 2)1] + 6(1005)* =50~ 4;(& ~X) =5 5x4x100=20
=512 4% 32 =384 .
64. Ans. (4) 68. Ans. (3)
_2x19 19 1
_10><9_E b1+b2:1:>b1(1+r):1:>b1:m
favourable : {(3,4),(3,5).......(3,10) . NG
6.7), (6.8).....(6.10) DIL T SN S S
6,7), (6,8),....(6, &k (1+r)(1—r) 1-r? 2
(9,10),
(1,4),(2,4) N S (2++2)
(1,8).(2,8),(4,8).(5,8),(7.8)} Lér | V2
2
65. Ans. (4)
np =2 69. Ans. (1)
1 50,a,,a,,....,a_,100 are in A.P.
npg=1 .~ p=q= E,n=4
50
a, =50 + 2d; where d=——-
1) 1) 1 4 11 n+1
P(x)=1-'C,|[=| -1¢,[=| =1-— -2 -2
(x) °[2J 1(2J 16 16 16 . —(50+ 100}_50n+150_50(n+3)
? n+l n+l (n+1)
66. Ans. (1) 50, h h,,......h ,100 are in H.P.
_ -1 3 _ -1 _ -1 _ 1 1 ,
T, =tan [n2+n_1]tan (n+2)-tan” (n-1) - =5+(n—l)d ;
n-1
Use:S =XT,
[L _ LJ
where d'— 100 50) _ -1
n+l 100(n+1)
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0 Ans. (3)

Do yourself

71. Wehave 72 =49=50-1
NOW, 7300 — (72)150 — (50_ 1)150
= 150C,(50)%°(-1)° + 5°C, (50" (1) +.....
+ 150C150 (50)0 (_1)150

Thus the last digits of 7°% are *°C,,.1.1 ie, 1.

72. N .

Here -1 = ﬁ and ¢ = & .
"C, 84 "C.,, 126

= 3n-10r=-3 and 4n-10r=6
On solving, we get n=9,r=3.

73. 1

74. 3

75. Here two cases arise viz.

Casel: x2+4x+3>0
This gives x? +4x+3+2x+5=0

=x2+6x+8=0= (x+2)(x+4)=0 = x=-2,-4

x = -2 is not satisfying the condition x% +4x+3 >0,
so x = —4 is the only solution of the given equation.

Casell: x% +4x+3<0

This gives —(x* +4x +3)+2x+5=0

= -x?-2x+2=0=>x"+2x-2=0
=(x+1+/3)(x+1-+3)=0

= x=-1++/3-1-43

Hence x:7(1+\/§) satisfy the given condition

x2+4x+3<0, while x=-1++3is not satisfying
the condition. Thus number of real solutions are two.
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